et 2o BAARGY Yol & 75t
w9

@D 41V2 @ 4242 O 432
@ 442 @45«/5

9 % 10 x sind5° — 9 x 10 x Y2
= 45v2




S AZMAZEY ABC oA A =34° 4
o, =o] BC & FotH? (H, sin34° =

C
0.5592, cos34° = 0.8290 )

)

@ 20.141 ¢m @ 21.523cm
@22.368cm ® 23.694 cm
® 24.194cm

BC
in34° = —
sin 0

- BC =40 x 0.5592 = 22.368 (cm)




3.

th2 1387 22 AABC 9|4 &) h & F513A?

A

v\

- Hogp -

® 10(v2-1) @)10(V3-1) ® 10(V3- 2)
@10(2\/5—1) @10(@-2)

B

2
h 0

~ fan (60° = 457) + tan (90° = 30°




th 18 o] ©A19] Zo]7} 8em ©] L,
WA o] o] £= Z}e] 2717} 60° <
YEO| Hul 5 FohH?

2
D 32V3rcm? @ 3 3\/377(: 3
1
@ 6437 cm? ® 923‘/§7TCI113
af4d)
_ 1
OB:8xcos60°:8x§:4(cm)
m:8><sin60°:8x‘/7§:4\/§(cm)
wHebA] ¢#o] Buj=
167 X 4 V3 x % = 643V§ﬂ(cm3) o]},




8

AH = ‘/§+2
tan(90° — 45°) + tan(90° - 60°)
V3 +2

~ tan45° + tan30°
V342
V3

14 2=
+3

3(V3+2)

3+ V3
(V3+2)(3- V3)

B 2
34+ V3
2




i
oo

dHa

@ 72 +45V2( cm?) @ 722 +45V3(cm?)
® 72V2 +45(cm?) @ 722 +45V6( cm?)
@72«/3 +45V6( cm?)

e _AC_AC _ KO _ V3
S “Bc 24 2
- AC =12V3 (cm)

(DABCD ¢] ¥o])= AABC + AACD

1 1
= 5><24><12\/§><sin30°+5><12«/§><15><sm45°

1 1 1 2
:§x24x12\/§x§+§x12\/§x15x%_

= 72V3 + 45V6(cm?)




o 283 o] 7HAo] 50m Q1 F A&
A, B7FQIth A ZAE 244 B A&
S 2t 2 =300 o], W=t 2
A= 45° 4 o, B 459 Ho]&?

O 100m @ 75m
(@)Mm ® 50(V3 4 1)m

e
30°
45°
A~ 50m-" B

® 50(V2+1)m

B

30° [
45°

()

S~50m-"
DC =50tan30° = %g

503
3

w}2tx DB = DC+CB = —— +50 =

50(3 + V3)

3

(m) , BC = 50tan45° = 50m

(m) °]Ht.




T 223U A A”T C A ¢

2 Aol o] AR E A4S E Y 220m
oltt. A A B A H Atolo] Az

=7
2116

3
2176
3

®
R

@

m

m

2156

3
2196
3

@
@

CH = 220 x sin 45° = 220 x ‘/75 = 110 V2(m)

2206

..CH=AH
— AH
. AB = =
cos 30°

S (m)




9. o8 Id¥A BC = 4cm, /B = 30°, /ZACH = 45° ¥ ©f], AABC 9]

Hol=?
A
' A []
B ~4cem- C H
@ 5cm? @ Tcm? ® 3(V2+1)em?

@ 3(3 - V2)cm? (@)4( V3 4 1)cm?

B ~

AH = xem & 318 CH = xcm

o x _ 1
AABH || A tan 30 =To- &
\/gx:4+x,(\/§—1)x:4
4
x= ‘/5_1_2(\/§+1)

—_

AABC:§x4x2(\/§+1):4(\/§+1)(cm2)




10. o= 1A aABC 9] Hol=?

T sin | cos | tan

22°10.37(0.93(0.40

50° 10.77]0.64|1,20

@® 150 cm? @ 160 cm? ® 180 cm?

AABD ©|A AD = BDtanB = 10tan50° = 10 x 1.20 =
12( cm)
AD 12

= — = (o]
tan2z — 04g = So(em) °IE.

w2t AABC = % X (10 4 30) x 12 = 240( cm?) ©]t}.

AACD 94 CD =




11. o I3 AB 9 Zol=?

26 V6
ok
® -

60°




12.

@D 245 @ 345 3 26

@3«/6 ® 46

H A oA BC o Hdd 429
2 H & 5" AACH o)A AH

A_Csin60°:6><‘/7§ =33 (m)

webA AABH o4

i




13. the 133} 78 AABC oA gt ¥ o] Zol=
il

20% &°]1L, & 3 o] ol 20% =
A Az A74E ABC E RS W, aA'BC
o] wlo] o] Heh=?

O #go] gtk @ 1% EolETh
@)% zo1ET. @ 4% Soldrt.

© 10% E°l=H.

~&B

AB =x, BC=y 2t 5}H¥

A’B = ﬂJc = éx
100"~ 5
120 6

BO =~y =2
100° ~ 5

watA AABC 9] Hol=
AA'BC &] Yol=

1
ixy sin B O]j_,

1><A—1x><9 ><sinB—2—4><lx sin B

275" 5 "3 2™
= —AABC
25

I¥BZ AABC &

AABC 9] % X 100 = 96 (%) | B= 4% ZolEt}.




14. t©He o)A oABCD & AA o)
o}, /EAD = 60°, AB = 6cm & 0,

MY 25 Yol

@® 7(Cm2) ) ? (cm2)
®10(m?) @ 2 (am?) 6cm
27,
@7 ()
B
V3

ﬁzESin60°=6x7=3\/§(cm)
w2hA ADEC 9] Hol=

1 — —

5 X ED x CD xsin (180° - (30° + 90°))

:%x3\/§x6x\/7§:¥(cm2) ol




15. ©h& 104 AABC &} AACD 9] Yo]9] =9

@ (9+ V2)cm? @10\/501112 ® 123 cm?
@ 14v3 cm? ® 153 cm?

B

AABC = % X 4 x 23 x 5in 30° = 2 V3( cm?)

1
AACD = 5 X 8% 6xsin60° = 12V3( cm?)

w2kA] AABC 2F AACD 9] ¥ o]9] 2H= AACD - AABC =
10 V3(cem?) o]t




